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UPSC 2018

1.9 e Af39RE 3TE Jomell (37S. 3R, U1.UH.TH) & Teey

H, Ffaf@d Fuel | IR &

1) IRNSS & $fmst & ofief 399rg & 3R -Gl FETH # IR 39908

2) IRNSS ¥ #Rd 3R @ehr WA & W o@rerer 5500 adf foh.#1 1 ey &ar
gl

3) 9RA & 9rE 2019 & FET dah o7 dRGF Falsl & WY 391 39ag Afdaered
{Eee ghem|

IR & 10 FuAr F T wlT v/ TEr &2

A. &had 1
B. haer 1 31T 2
C. %ae 2 3R 3

D. FIg et

Answer ||| A

Solution ||| e The Indian Regional Navigation Satellite System (IRNSS)
with an operational name of NAVIC (Navigation with Indian Constellation)
is an autonomous regional satellite navigation system, that provides
accurate real-time positioning and timing services.

e It covers India and a region extending 1,500 km around it, with plans
for further extension. The system at-present consist of a constellation of 7
satellites, with two additional satellites on the ground as stand-by.

e Three of the seven satellites in the constellation are located in
geostationary orbit (GEO) and four in inclined geosynchronous orbit
(GSO).

2. AFfaf@d geanisit W fTar &3

1) TehTRr I[EcaATehYOT & THTIAT Biell B

2) sEAs TR faeamia g g

3) 9erd U HH-UT & IHdARET AT I &IT AT gl

3UASFT A @ HieT AT /A Hoae SATENT HT WU & THY HeHia Hr
Hiasgarolt / qalefAlT §, 3 Afsar & = & S g2



http://www.gradeup.com/

e

www.gradeup.co gradeup

A. Faer 1 3R 2
B. %hae 3

C. %aer 1 3R 3
D. 1,233

Answer ||| D

Solution ||| e Einstein’s general theory of relativity is based on how we
think gravity governs the behaviour of the Universe.

e We know that matter in the Universe warps the surrounding fabric of
spacetime, and this warping effect is what we refer to as gravity.

e According to Einstein’s theory, light, just like any other form of matter,
is affected by gravity. That is, light also “falls” in a gravitational field.

3.9Rd # A Seifcaher TNfad axar (S.0A &34 & ded H, Aefaidd
YA W TTaR &Y

1) Sr.ue T3 # A & dFEIRAT & et giad & St o aied &1 fel 1 tew
freqa fafauar & fow fie gfade # qor & §)

2) S.UH T F Sl gl § S 9T T 9R WReEreT 3R HAOT @ AT &
gl

3) S.UH HIET H IS CHRIAE 3N doe HY faeaidedrerd gant TJ¢d &7 &
efaa o = §

IR @A a0 FYAT H & Pl A/ TEr 8§72

A. &haer 1 3IR3
B. &hdel 2

C. %deT 2 3R 3
D.1,2 3R 3

Answer ||| B

Solution ||| e DMH-11 is a Genetically Modified (GM) mustard hybrid.

e Hybrids are normally obtained by crossing 2 genetically diverse plants
from the same species.

The 1st-generation offspring resulting from it has higher yields than what
either of the parents is individually capable of giving.

But there is no natural hybridization system in mustard, unlike in, say,
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cotton, maize or tomato.
e This is because its owners contain both the female (pistil) and male
(stamen) reproductive organs, making the plant naturally self-pollinating.

4.frfafgd At W TR+

Folr-Fal GaERT § 24 71T ong - e / fawa

1. &er |l 9T - nfefrferer sefeara
2. sellFSe St - ffSed / st
3. ULARABS.CHULAR - dhoeed 9 - ST HiThT

IW QU a0 JoA A @ T A1 oA TE &1 d A Wil g7

A. Faer 1 3Rk 3
B. &adl 2

C. %der 2 3R 3
D.1,23k3

Answer ||| B

Solution ||| e« CRISPR- Gene-editing tool that can be used to modify DNA
in cells

e Blockchain technology - Digital/ Cryptocurrency

e The Belle II experiment- It is a particle physics experiment designed to
study the properties of B mesons (heavy particles containing a bottom
quark).

5.fAFATd & & Sl AT HYUT "Flead ASTA" FT FIH 3TST U HIAT g2

A. AIHSS H HIeeT SSIHTFAISS &I TG Hleadl & HROT it & [ # gefer
&

B. aTgHSH # el SS3FASS H qGcl Hegdl & HRUT G2l & AIHGT H
e

C. agHSS H Hlee SISIHIFHISS dHI Tl gl & IRUTHATTRT HGAERT HT qE1
g% 3t
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D. SToary URace & v gedt o @eft Shfda ariorat &1 3iefehelsl ardraxor &
FIT SBIHTFASS HT Tl Alogdl I oAl g

Answer ||| A

Solution ||| Carbon fertilization

The larger amount of carbon dioxide in the atmosphere that has resulted
from rising anthropogenic emissions should help the growth of plants,
which use carbon dioxide during photosynthesis. The effect ought to
increase crop yields.

6.5 3MUeh TATEDI T Teld Fog H Rt a7ar g, ar 39 St § 3R 3o
A Ahed & fOIT 30 20 X & oww 3uss iR Fr Toafoa & ¥ fag far
ST TehdT g 39eh SUFH H TATC AR feaT & Alad & fg@rar g 3R I8
3T9F NaRQS &b H Ul T TR ot g aar g1 et & v e IWheex
¥ Fo A & GHAT o & e, Tg Theh T FHaAl I Ggameid g AR drsm
foraY hr aeq3 b Ingfd & faT e AT &1 S T 30 W F SR fAherd
g 3R ctarer s g &, ar g3 arse, 9w, e 3R vE A wmfod 9 @
dc g I g1 FRTaT Je & TS H, 3M9h X 39T Jraard o g & ar
# AcTel St & 3N depfous AET o g, 3R I g fmdr Aifder & faw &
g g, O Tg 3IS FRTET H Th T Aorar B

SR g8 FUR W AfHal & dest &, Frafaf@a & @ Sl @ uee "sugFa
IRET W FEH 3BT o] gl &7

A. §1sT 3)ed Wehia (Border gateway protocol)
B. e¥aic 3% 298 (Internet of Things)

C. g3l Werpid (Internet Protocol)

D. a¥31el Wigde sieas (Virtual Private Network)

Answer ||| B

Solution ||| The Internet of Things (IoT) is the network of physical
devices, vehicles, home appliances and other items embedded with
electronics, software, sensors, actuators, and connectivity which enables
these things to connect and exchange data, creating opportunities for
more direct integration of the physical world into computer-based
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systems, resulting in efficiency improvements, economic benefits and
reduced human intervention.

7.91a # @R 397 3cUeT & el #, Reafai@d Y+ W [JaR 1

1) wieralfeesd shEal § sEdATT fFU = are RAfesia 3ng & @aor § 9ra
e &1 IERT HH 37 < B

2) "R 3ol Yo HRA & ER Fol o gart fFeiRa e sid &

IR A 7T Fyar F ¥ FiT T/ TEr 82

A. had 1
B. shddl 2
C.aer 1 3k 2

D.aar1aar?2
Answer. d

Answer ||| D

Solution ||| e Every solar panel which is made in India is assembled while
all the material comes from China, Europe and some other countries.
India is yet to develop semiconductor clusters.

e CERC determines solar power tariffs and regulates the tariff of
generating companies owned or controlled by the Central Government.

e SECI has a power-trading license, but it does not set solar power tariffs.

8.18d1 euATedY & HET H FITel ¥ s $F¢ S3AT Huelr q@ry AT Hr g7q@
¢ o

A. FTdT U, Tddge 3R 3dhA
B. e, a5, SEar 3k dar

C. I, TEGT, AT, AT 3R T
D. urg, 3erH, RT 3R 3rhe

Answer ||| D

Solution ||| e British-Indian territory was developed as a source of food
and raw material for Britain, which fuelled rapid growth in its


http://www.gradeup.com/

e

www.gradeup.co gradeup

manufacturing sector, crucial to the emergence of a powerful capitalist
economy.

e In the 1750s fine cotton and silk was exported from India to markets in
Europe, Asia, and Africa.

e While by the second quarter of the 19th century, raw materials, which
chiefly consisted of raw cotton, opium, and indigo, accounted for most of
India's exports.

9.fFfaf@d & @ SieT @1 Agcaqul TURYT HAE H1 g HEcaquT Uge] 87

A. TG el H dehlell, BTl AR Afgensit 1 afshar if@er dRAT smfiery
B. TS 3Mieleil # $RA & aicld 3R STelollcid FHe™ $H iha HEferT
C. 9Rd & T Jeleld & fAw fhare 3uga & fder g

D. &TRIYoT ®aell AR aifoifSas wael i @t 7 397 Flr

Answer ||| C

Solution ||| Champaran Satyagraha, 1917

e When Gandhiji returned from South Africa, he heard about the case in
Champaran that the British forced the poor peasants to grow indigo and
they had no other choice.

e More than cultivation of Indigo what was appalling was the sharing
system that was prevalent -Tinkathia System.

(According to the Tinkathia System, farmers were under compulsion to
grow Indigo on 3/20%™ of their land and were allowed to take only one-
third of the indigo produced by themselves)

e Raj Kumar Shukla was an indigo cultivator of Champaran (Bihar), who
met Gandhiji to make him aware of the plight of the cultivators in
Champaran and persuaded him to come there.

e It was during this agitation, that Gandhi was addressed by the people
as Bapu (This was given by Subhash Chandra Bose) and Mahatma (It was
given by Rabindranath Tagore).

e Very significant aspect of the Champaran Satyagraha was the joining of
peasant unrest to India's National Movement.

10.fAmfaf@a & @ @l 1948 & Tuifa "fee Holgy qm" & dEuTs A?

A. o1 FeoT Ueels, §.0A.0H Aqicdiue 3R &8l Sl
B. STIYIeT ARTICT, &7 Tl 3UTedTT 3R TH.T 3T
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C. dr.dl. AT 3T, &, HERS IR dRATATH o]
D. 31k AgdT, E.UH. IATSH R SIS, Agar

Answer ||| D

Solution ||| e The Hindustan Mazdoor Sabha was founded in Howrah in
West Bengal on 29 December 1948, by socialists, Forward Bloc followers
and independent unionists.

e Its founders included Basawon Singh (Sinha), Ashok Mehta, R.S. Ruikar,
Maniben Kara, Shibnath Banerjee, R.A. Khedgikar, T.S. Ramanujam, V.S.
Mathur, G.G. Mehta.

11.9Ra & enfie g2amit & T’ &, "Eararenrl” uerr I g gl

A. §icy ga
B. SieT &
C. dSuTadre,
D. Sgarg

Answer ||| B

Solution ||| e Sthanakvasi is a sect of Svetambara Jainism founded by a
merchant named Lavaji in 1653 AD.

e It believes that idol worship is not essential in the path of soul
purification and attainment of Nirvana/Moksha.

12,41 & HiEhicah Siag & Hedl #, Meiaf@d syl W faar &

1) BeqR Hehll F Foig Iarell 3R WH Tl H Tthe, HIFIA HT SETATS
foram arar am)

2) OGS H SAIRT SHART 3R T eXarsll el # STl Sof31 Te2 3R
HIHAIAT FI SEAATA TohaT 13 am|

W &I 90 FYAT H & FleT AV ey 87

A. Fhad 1
B. shddl 2
C.amr 132
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D.aar1agr2

Answer ||| A

Solution ||| Buland Darwaza

e Buland Darwaza at Fatehpur Sikri was built by the great Mughal
emperor, Akbar in 1601.

e Akbar built the Buland Darwaza to commemorate his victory over
Gujarat.

e It is made of red and buff sandstone and decorated by carving and
inlaying of white and black marble.

Rumi Darwaza

e It was built by the third Nawab of Lucknow, Nawab Asaf-ud-Daula and
is believed to be identical to an old gate in Istanbul called Bab-iHumayun,
and so is also sometimes referred to as Turkish Gate.

e The material used for the Darwaza is bricks and it's then coated with
lime, while the Mughals often used red sandstone.

13. Al facel it & @ fhaa 9Ra & g 3R ER & Tel & IR A
faEga ==t $r?

A. FhlsT Tk

B. Sha-sufese ¢afer
C. SiieT 3 dadie

D. Udr ardioreT aw

Answer ||| B

Solution ||| e Jean-Baptiste Tavernier- A French traveller and merchant
elaborately discussed about diamonds and diamond mines of India.

14 4R 3TgTd & el #, eAiai@d & & &l a1 #iasy ey g, 5 giaar
Fr T & T =T §?

A. TAIFAET
B. dleheay
C. 3T
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D. 9eHTAT

Answer ||| C

Solution ||| e The term 'bodhisattva' literally means 'one who has
enlightenment as his/her essence', from bodhi (awakening or
enlightenment) and sattva (essence).

e It is not simply another term for a Buddha, though: a bodhisattva is a
being who is destined for enlightenment rather than one who has gained
it already.

Maitreya

e He will be the successor of Gautama Buddha and also known as future
Buddha, yet to come to save the world.

e He holds a “water phial” in his left hand.

e It is said that he will arrive when oceans will decrease in size (that is
why keeps a Kumbha or philial in his hand) and will rule the Ketumati
Pure Land (Varanasi).

15.f=af@d & & @l 1 HYA oS dolEel GaRT YT TR TS Sl
YUTTell W) o9] 61 gl &7

A. fTRET 30T TT WX T 937 TURT TAT I TATC IGAT
B. AN @R & #RA T AT TG

C. 9 & v v fafRad 3ma gfara e

D. 3R ot R fafesr wafuR anfaa swar

Answer ||| B

Solution ||| Subsidiary Alliance System

e The Subsidiary Alliance System was “"Non-Intervention Policy” used by
Lord Wellesley who was the Governor-General (1798-1805) to establish
British Empire in India.

e According to this system, every ruler in India had to accept to pay a
subsidy to the British for the maintenance of British army.

e In return, British would protect them from their enemies which gave
British enormous expansion.

e Those native princes or rulers who would enter into Subsidiary Alliance
would not be free to declare war against any other power, nor enter into
negotiations with, any power, native or otherwise without the consent of
the English.

e The princes who were comparatively strong and powerful would be
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permitted to retain their armies, but their armies must be placed under
British generals.

16.A=faf@d 2=t W R #:iX

1) 9gell oliepdsT H AueT H e 987 urél Tadd Ul ¥

2) SHEST A, 1969 # Jgell IR "TAET & Ad™" A AleFAr g g5 A

3) irger #, Ife T el & 99 7 § F7 75 TESET gl g, df 9% AdT &l
fauer & AdT & T F UgAEAT AT ST T Bl

IR Y 7T FUAT § T HT q/d Ty 872

A. Faer 1 3R 3
B. &had 2

C. %der 2 3R 3
D. 1,233

Answer ||| B

Solution ||| e In 1952 elections The Congress had won 364 out of 489 Lok
Sabha seats in the first-ever general election held in India.

e The CPI was the second party with just 16 seats.

e The Swatantra Party was an Indian liberal-conservative political party
that existed from 1959 to 1974.

e Leader of opposition was recognized for the first time in 1969.

e To become the leader of the opposition, a political party needs at least
10% strength of the house. (convention)

For Lok Sabha 543 55(10%)

17970 & FhdreT H Ushad & fAT Iaeare et 7 Feafaf@ad & @ il ar o
HeMersT BT §?

1) g8 3Rk Aefr afqar

2) BT T

3) gt & dol T i

A fU 3T HI8 T 39T HT LT 3aX DI AT DY

A. Faa 2 33 3
B. shadl 2
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C. ad 3
D.1,23k3

Answer ||| D

Solution ||| e The vegetation of hot desert climate is xerophytic type
which has special characteristics to withstand very high rate of
evaporation.

e They have long roots, thick barks, hard and waxy leaves, thorns and
little leaves.

18.0A.0q.TH.3T 704 R "Hi¥ aRart i Feufd snmha- adefor &

ITER, FEfAf@d wYel W far Y-

1) TSEATT # AqTA0T qRERT # Hi aRERT &1 T8 S71eT Jiaerd Bea g
2) U & Pl PV IRART & F 60 gfaerd & 3iftre 3 @ F@afea &

3) &l &, 60 gfderd & 3% FY aRaRt #1 FY afafafeat & sremar 3=
Al & sftrehas 3 ured g% 8

IR 6T T FHyet A @ ST qU/A T 2

A. Faer 2 3R 3
B. &hdel 2

C. dhaol 1 3R 3
D.1,2 3R 3

Answer ||| C

Solution ||| NSSO 70th Round "“Situation Assessment Survey of
Agricultural Households”

e Rajasthan has highest agricultural households (78.4 %) among rural
households, in terms of proportion, in absolute humbers it is Uttar
Pradesh.

e The share of OBC households among rural households is about 45
percent.

e In Kerala, about 61 percent agricultural families have more income from
agricultural sources.
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19.TE g WIfRreor (U158 el Jeuor faor §is (F.dravsh) @ &
37CIdT 8-

1) A8 v HfAfAH garr Tuiig fRar arar § Sefe @ndnddy & @R
& HRIGRT 31GeT GaRT FAIT 3T g

2) U S.E HTeRoig ~ g Yl Sl ¢ AR 3T Sarredt # HeheAdrs &
5T T HH A H HAee Al § Sidfeh A armsit 3R F3i Hr awg w
qgTar 3T § 3R 3 F gar A qUrEadr H FUR He H 8T G B

IR U 3T HUAT & & i /A TET 872

A. Fae 1
B. &hddl 2
C.gmr 1 3R 2
D.aar1aar?2

Answer ||| B

Solution ||| Both are statutory organisation.

e The Central Pollution Control Board (CPCB) was constituted in
September, 1974 under the Water (Prevention and Control of Pollution)
Act, 1974.

e NGT was established under National Green Tribunal Act, 2010.

e The NGT provides environmental justice and helps reduce the burden of
litigation in the higher courts.

e CPCB promotes cleanliness of streams and wells and aims to improve
the quality of air in the country.

20.FAFIAET FUal W IR Y

1) IR &1 G HR & HIAUT HT AT el # v AT Hlefe T ax
SETINY

2) Aldl 3T A T T 90 gt T qerdr 1 fonelr o 3reTeld garr S
ST ST ThaT ¢ 3R 37 W Fig [oTy A8t for s @erar B

IR I 3T FUAT H F i T/ Ter g2

A. &had 1
B. shaol 2
C.a=r 132
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D.aar1agr2

Answer ||| A

Solution ||| e The Parliament of India can place a particular law in the
Ninth Schedule of the Constitution of India.

e The validity of a law placed in the Ninth Schedule can be examined by
any court and no judgement can be made on it.

(Supreme Court on 11 January 2007 ruled that all laws including those in
the Ninth Schedule would be open to Judicial Review if they violated the
basic structure of the constitution.)

21.Ffof@a & & Sl a1 gew 3= R ¥ "Ade BTEe T se T auid
T § O el ARt F S@r Sr &2

A. el o carT 30 dh @ e Sfae #18 & ATEIH F T TR A
& foT T Sny @ GAr I e |

B. depl ganrT AT AT Far3t & Wlga & fov faia ad-da & fav sfoe &8 &
3YAET A FHI Shi SIRT 391 ATEeh! Sl ATTH AT T 915 AT

C. & & 3fdc #1S & AIH § U Fgehl T T TR Al g fohdl e
GART Teh SATIRT I &1 TS|

D. wage 3w dof (F.30.7H) #7efer AR sfoe F18 & Aegdm & 39 Jigat ans
f3fSice §farare &t dgrar ¢t & v aTREl @l ThR @RI fear /=7 Sicare |

Answer ||| C

Solution ||| Merchant Discount Rate
e The charge to a merchant by a bank for accepting payments from his
customers through the bank's debit cards.

22,3 & "ITAV] IYfcichcll THG' I T Tolol o TRUTH FIT g2
1)mmmm§%mwmﬁwwq§iﬂ@?ﬁl

2) Ig Fadiiad 9 @ "WAY] ORI & HIER X G (TA.dr.E)" & deeg aef
ST g

W T 30 YT § F ST AU/ Tar 872
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A. Fae 1
B. &hdel 2
C.g&r 1 3K 2
D.aar1aar?2

Answer ||| A

Solution ||| Nuclear Suppliers Group (NSG)

e It is a group of 48 nuclear supplier countries that seek to prevent
nuclear proliferation by controlling the export of materials, equipment
and technology that can be used to manufacture nuclear weapons.

e The NSG was founded in response to the Indian nuclear test in May
1974 and first met in November 1975.

NPT (Non-Proliferation Treaty)

e The NPT is an international treaty whose objective is to prevent the
spread of nuclear weapons and weapons technology, to foster the
peaceful uses of nuclear energy, and to further the goal of disarmament.
e Opened for signature in 1968, the treaty entered into force in 1970.

e Four UN member states have never accepted the NPT, these are India,
Israel, Pakistan and South Sudan.

e Currently there are 190 members after North Korea acceded in 1985.

23.3R-fAarT FEAT3HT GaRT TeTe T A arell AleAese sl Jar3il | 6% &
SIS I WA & ART & 0T & e H, Feafaf@a & & sia ana sy
e 8?

1) 38 3T IRAFTE & v BT & & & 9 fFar 7w g

2) ARA # TaaT9eT Jar3it Fr U Fel drell I TEATT "GIeT HIrYTed
aRER GHSar & ded 39 & F &Y FfeT F1 grar X gadr Bl

ST fET 91T FIF T 3UANT A TGN 3R HI ITT H:

A. &hae 1
B. el 2
C.gmr 1 3R 2
D.Aar1agr?2

Answer ||| A
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Solution ||| e The levy was introduced in the Budget as part of the finance
bill and not as a part of Income Tax Act. So, because of this the
companies would not be able to take the benefit of tax treaties to avoid
double taxation in their home countries.

e It provides that income of the non-resident from provision of the
specified services to the assesses under chapter VIII of the FA is exempt
from income tax in the hands of the non-resident if the same is
chargeable to equalization levy.

e However, it does not mean that the income of the non-resident from the
specified services would be charged to income tax if the same is not
chargeable to equalization levy.

24 Arfaf@d sl T R+

1) T 3mReRca 3R Solc oy (Th.3MR.a).0d) THeT afafa fr R

o 2023 T AT (Fged) TWHR & U ST 3Hequrd 60% & fw RO &
Awmer &1 g, 5w &g WAR & 6T 40% 3R T59 WERT &

foT 20% anfae g

2) TS FHR & SHELH & o T Jolell H dhog, THR I ST

HT 21% TR SAGTRAT &

3) Rd & WA & IR, frdll T & faw fdr st %o1 & 9o & fav
e THR AT FgATT ol ifAard § afe qd 7 et oy sohram et &
3T TR STl &

IR &I 90 FYAT H & FiT AU/F T 87

A. Fae 1

B. %had 2 3R 3
C. %der 1 31X 3
D.1,23k3

Answer ||| C

Solution ||| e The Fiscal Responsibility and Budget Management
Committee headed by N.K. Singh submitted its report to Finance Minister
in January 2017.

e The Fiscal Responsibility and Budget Management (FRBM) Review
Committee Report has recommended a debt to GDP ratio of 60% for the
general (combined) government by 2023, comprising 40% for the Central
Government and 20% for the State Governments.

e As per the Constitution of India, it is mandatory for a State to take the
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Central Government’s consent for raising any loan if the former owes any
outstanding liabilities to the latter. (A-293)

25.fAFf@a FUel W IR &

1) 3marfdd Wied dell 1 AT oo 9= asf # @eg dell & @] 3caesT 4
3+ g

2) THN Fel AT Wi dell W Teh fIAY AHS W HIS HAT Yoo A9 78T
L Bl

IR QU v wyat & O Sl a1 /& T@r §7?

A. Fae 1
B. &hddl 2
C.gmr 1 3R 2
D.aar1aar?2

Answer ||| A

Solution ||| e The quantity of the imported oil is almost 60% of total oil
consumption in India.

e Government imposes custom duty on several edible oil, such as palm
oil.

26.37g11 Hsilell, IMdarecy, RIars 3R Apsor i Slae fodl; v 7a7g & fav
3ARFT 7 w@; AR FAT Ruerasm & v off g av A 98 HiT A

A. 3RTdEr 8y

B. fadi<T =g drer
C. Tl deqd I
D. Al Ag®

Answer ||| C

Solution ||| Lala Lajpat Rai

e He was Born in 1865 in Moga district, Punjab to a middle-class family.
e He was a lawyer by profession.

e Also called ‘Punjab Kesari'.
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e He was influenced by Swami Dayananda Saraswati and joined the Arya
Samaj in Lahore.

e He founded the Home Rule League of America in 1917 in New York.

e In the USA, he worked to get moral support for the Indian
independence movement from the international community.

e He wrote biographies of Mazzini, Garibaldi, Shivaji and Shrikrishna.

e He was also elected President of the All India Trade Union Congress.

27 f=afof@a sy= v IR &4

1) 3R HS P ARIRGAT IT A F GATT F T F STAATS [hAT ST bl
gl

2) T dR SR gl & 901G, YR F&IT A SR el dlel IRl garkT 38
AfSra ar oier 7E7 ST gwar gl

9 A 9T FUAT H & i VA TEr 87

A. Fae 1
B. &hddl 2
C.gmr 1 3R 2
D.aar1agr?2

Answer ||| D

Solution ||| Both statements are wrong.

e Aadhaar card cannot be used as a proof of citizenship or domicile.
e Aadhaar number can be deactivated or omitted by the Issuing
Authority.

28.811 &1 # AAE wfafafdal & #Ror Feafaf@d & & Fia qaUd 9ga w4 8
I § QAT §?

1) 3Rl TR

2) Slell 9T

3) Sehrel FheT

AT GU &Ig FT 3YTET b Tl A I TIA P

A. &had 1
B.2 33
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C. &hdd 2
D.13R3

Answer ||| D

Solution ||| e The Aral Sea is an endorheic lake (one with no outflow)
lying between Kazakhstan (in the north and Uzbekistan in the south.

e Lake Baikal is a rift lake in Russia, located in southern Siberia, between
Irkutsk Oblast to the northwest and the Buryat Republic to the southeast.
e The Black Sea is a body of water and marginal sea of the Atlantic Ocean
between Eastern Europe, the Caucasus, and Western Asia.

29."$1efel Feehieh A1 AaH" fAeAfafad & @ fhad garr it fhar sirar g2

A. THAES SeTAeqAel

B. RIS <A1 «ITATel Y

C. AAIUSRT & AT TFFd TSE T HT HrATL
D. faa =g aRArst=r

Answer ||| D

Solution ||| e "Rule of Law Index" is released by World Justice Project.
e The World Justice Project (WJP) is an American independent,
multidisciplinary organization with the stated mission of "working to
advance the rule of law around the world".

30.FF & O &9 I ara & g v.d.wH Fr oles F:ar 82

A. ARAT & T

B. aerte {aaRde Buifaedy afaes
C. IR & TS 3Tl foare

D. ¥R Rea d&

Answer ||| C
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Solution ||| e National Payments Corporation of India links all the ATMs in
India.

e National Payments Corporation of India is the umbrella organisation for
all retail payment systems in India which aims to allow all Indian citizens
to have unrestricted access to e-payment services.

e Founded in 2008, NPCI is a not-for-profit organisation registered under
section 8 of the Companies Act 2013.

e The organisation is owned by a consortium of major banks, and has
been promoted by the country’s central bank, the Reserve Bank of India.
e Its recent work of developing Unified Payments Interface aims to move
India to a cashless society with only digital transactions.

31.74FT # @ &7 AT FUA Sl HAfdeT e & 3 &1 HE qUTeT FTl g2

A. YT ST Feleil HTHel & oeh Pl Tl & AT Hefel I 3reTeldl 7 fear Jrar
g

B. 98 ¢ S olelgR 379l grdl & fager # TR e & fav 3faaT &

C. U, 319, TFHUST & oot 3¢ & & & dh 9T

D. Teh ¢ # IRTROT & 1 e

Answer ||| B

Solution ||| Legal Tender Money

e The money which a creditor is under compulsion to accept in settlement
of his claims.

e Legal tender is legal status given to an instrument like currency note
that it can be used as medium of payment.

32.3f¢ TIFHR @RI SieTdl &I Uh I&] HFT el AT Sl &, af

A. ITE AT L B

B. 37@EY RTd &l Ae3ierel X fear Jrar gl

C. 3G AR &l 3cUle & 3YMFAIN & F-33TAl el dlel AL A
TIATART & feam Sar gl

D. 3dER dETd &l 3cUIG & STHIFART & WHR BN TATAIRT Har J1ar g

Answer ||| C


http://www.gradeup.com/

¥

www.gradeup.co gradeup

Solution ||| e Opportunity cost is the cost of choosing one alternative over
another and missing the benefit offered by the forgone opportunity,
investing or otherwise.

e Opportunity cost refers to a benefit that a person could have received,
but gave up, to take another course of action.

33.907 3R 9i cafdd aredides SL.ua.dr # gefer e [ & 3Ta &/ Al
ad =TT AT &, Ife

A. 3l 3curesT $Y 3cdie & Ay A W # father @ &
B. $f¥ 3cules i@ Iculest & Ay Ao WA & fahel @ &
C. T 3R RISy 7 gefer giehr &

D. 3mara T & Jefell & TSl & deaT B

Answer ||| C

Solution ||| e Increase in absolute and per capita real GNP do not connote
a higher level of economic development, if Poverty and unemployment
increase.

e GNI per capita is calculated by dividing the GNI with the population.

e It does not account inequality present between the population.

e Economic development is the process by which a nation improves

the economic, political, and social well-being of its people.

34.fArfaf@d FUr W aar i

Teh TUROT & & H AT Yol AHT Uk yfhar & deet # dgal FHSIAT arr
g, S P HEH AT &-

1) T 32 & afFad & fav sifRe ge d@wx)

2) ¢/ & AN o AT, DiRrel TR IR &TAASN H gefe|

3) #T |UTT HT oL

4) 3 GO @ TU |

IR T 3T FUAT H F i T/ Ter g2

A.13R2
B. dhdol 2
C.23R4
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D.1, 33k 4

Answer ||| C

Solution ||| e Human capital formation as a concept is better explained in
terms of a process, which enables increasing the knowledge, skill levels
and capacities of the people of the country.

e Tangible wealth’s are material, seen and easily quantified.

e On the other hand, things that are intangible are immaterial, unseen,
and not easily quantified. So it is also related to human capital formation.

35.3%d 9d FAYIEAT glel & dd9[G, Yol AT & IRUMAFTFT 3cureet H
% HRUT 3ecllelid Jeftr gl & Fehall &

A. FAR gemrafaes AR
B. [Awerar
C. 3T=g JI9IEIT YUelcd

D. 3= Yl 3c4ies 3eTuTd

Answer ||| D

Solution ||| e Capital-output ratio (COR) basically indicates the amount of
capital required to produce one unit of output.

e If COR is high, despite saving high and generating enough capital, our
output may not grow significantly because the COR is high. This may be a
result of poor technology or poor management.

e It is also represented by the famous economic model called as Harod-
Domar Model

36.89U7e fagig & g, 39fafIe EI6R GaRT 331U 9T 39T &7 A?
1) '§ATT GETOT ATHS &F §ATT T |

2) §UTel & foIv offf &l IR-HUel H FAAARA AT Iae g1 |
AT GU &Ig FT 3YTET b Tl A I TIA P

A. Fhad 1
B. shddl 2
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C.aer 1 3k 2
D.aar1agar2

Answer ||| C

Solution ||| e Santhal Parganas were created in 1885 after partition of
Bhagalpur and Birbhum.

e Important reason behind the creation of Santhal Parganas was Santhal
Mutiny in 1854-55.

e It became illegal for a Santhal to transfer land to a non-Santhal.

37.31 8% §T F, 19487 dedr H ART H fofeer eamasT & aRomar & & s
7|

A. AR gEdRIeT & T & gefer

B. ¥R FaifAca aTel wREM! $r T&d1 # Jefa
C. SIRAT F FT ATTARIHIT

D. 2 JTeTEr A sl & gefer

Answer ||| C

Solution ||| Economic Impact of British rule

e Deindustrialisation - Ruin of artisans and handicraftsmen with cheap
and machine made goods imports flooded the Indian market whereas
Indian products found it more and more difficult to penetrate the
European markets.

e Decline of many cities and a process of ruralisation of India. Many
artisans, faced with diminishing returns and repressive policies of the
Company abandoned their professions and moved to villages and took to
agriculture.

e The soul aim of British company was to make India as a global
farmland. Thus emergence of thecommercialisation of agriculture.
Commercial crops like cotton, jute, groundnut, oilseeds, sugarcane,
tobacco, etc. were more remunerative than foodgrains.

38.7f¢ #IRd & wsgufar fmelt A wowr & wey & dfdure & 3refeoe 356 &
dgd UelT T IS 39elr AP &1 wer g §, ar
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A. T $r fauagem raafad &7 & 97 8 S g1

B. 30 Us¥ & AuUAASe $r afdd @8 & IR a1 A1 38¢ ded I
g1t

C. 37206 19 38 Tsd # fAefad & f&ar = g

D. Tsgufd 30 ToT & HETA Hlofel ST Hebell &

Answer ||| B

Solution ||| If the President, on receipt of report from the Governor of the
State or otherwise, is satisfied that a situation has arisen in which the
government of the State cannot be carried on in accordance with the
provisions of this Constitution, the President may by Proclamation

A. Assume to himself all or any of the functions of the Government of the
State and all or any of the powers vested in or exercisable by the
Governor or anybody or authority in the State other than the Legislature
of the State

B. Declare that the powers of the Legislature of the State shall be
exercisable by or under the authority of Parliament.

39.fAefafad goAt W} faaR &t

1) GYell ATl - ATAAZ

2) Folell Hels - HERTSE

3) 3TTeT FHSHT TIfSAT - FeAledh

3R QU 71T gaAt & @ @i a1 /4 Rieq fawrad @8 g2

A. Fad 1
B. 13?2
C. %dd 3
D. 23R 3

Answer ||| A

Solution ||| e Toda tribe of Tamil Nadu do intricate Pithukuli work on
cream coloured shawls.

e Sujani (also known as Sujini) is a form of embroidery originating from
the Bhusura village of Bihar.

e Uppada jamdani sarees are diaphanous silk saree that trace its origin to
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Uppada in Andhra Pradesh. Jamdani itself is a hand woven fabric that is
also known as muslin.

40.77 H ¥ T 137 & S.UN.ug doeile &7 39AET fRAT ST HehdT 872
1) AlGISl B TATelel

2) et afR=rers

3) fostelr @18 & AT S

Jr oT I8 FT 3UANFT i TG 3 T TIT I

A. Faa 1

B. %had 2 3R 3
C. %der 1 3R 3
D. 1,233

Answer ||| D

Solution ||| e Core function of GPS technology are Navigation, Timing,
Tracking, Mapping and Location.

e Cell towers use it to route your phone calls, ATMs and cash registers
use it for your transactions, electrical grids use it to send power to your
house.

41.AFAff@T FYaT W IR FT:

1) #RAT Rerd 3 R THR 1 gfasiiaal &1 geaeeT 3R AT yerel &lar §
Aftret foralt o T TPR AT yfdeyfa =g |

2) oY 9 HRd TR @R’ SR fht I § 3R I EHRE aRT &g goll
faer Sl FET fobv ST B

3) ¢l el YEdId WA Hed ¥ B¢ W AN fv o gl

IR I 3T FUAT H @ i T/ Ter g2

A. Faa 13k 2
B. %haa 3

C. %dar 2 3R 3
D. 1,233
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Answer ||| C

Solution ||| e A Government Security (G-Sec) is a tradable instrument
issued by the Central Government or the State Governments.

e G-Secs are issued through auctions conducted by RBI. As per the
Reserve Bank of India Act, 1934, the RBI may, by agreement with any
State Government undertake the management of the public debt of that
State.

e In India, the Central Government issues both, treasury bills and bonds
or dated securities while the State Governments issue only bonds or
dated securities, which are called the State Development Loans (SDLs).
e Treasury bills are zero coupon securities and pay no interest. They are
issued at a discount and redeemed at the face value at maturity.

42 fafaf@a et w IR+

1) g2l & YT 8T A T goaﬂ’fsduaﬁﬁﬁtm%l

2) S g2dl 1 fo¥aAor 4000 fAferTer a¥ uger g3m oM, d 54% 3itereior @ 3R
o] SIS3TFarss oTgr AT

3) Sifae Sfiat dr 3cdfd gl W, 306l J2al & GRIFS arcraior H HeAeT
foram|

IR Y 7T FU=AT § T HT Ty T 872

A. Faa 1

B. %had 2 3R 3
C. %der 1 31X 3
D.1,23k3

Answer ||| A

Solution ||| e A change in the Earth’s magnetic field resulting in the
magnetic north being aligned with the geographic south, and the
magnetic south being aligned with the geographic north is called as
geomagnetic reversal. Complete magnetic reversals have happened every
200,000 to 300,000 years.

e The earliest atmosphere contained carbon dioxide, methane, water
vapour, carbon monoxide , little nitrogen, and hydrogen.

e Early atmosphere of earth was modified by solar winds.
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43,87 &7 § @ H afold ‘Wanna Cry, Petya 3R Eternal Blue' 2T o
qeared gl

A. TFEI-TE

B. fohcer-aer

C. AI3sR gel

D. fA:T AearseH

Answer ||| C

Solution ||| The WannaCry ransomware was a worldwide cyberattack by
the WannaCry ransomware which targeted computers running the
Microsoft Windows operating system by encrypting data and demanding
ransom payments in Bitcoin cryptocurrency.

44 9T HN 7 aRTEAfTET & desh #, "EET0r H" i aUROT H Aged
¢l fAeAfaf@d 7 @ i a1 TET0T $f¥ & T8d 37T 872

1) AAhedR TATHT & ST

2) wGAH Sl & YA

3) JeTRIYUT ®Hell I Wl & el

4) fACE T Tdg P HAX Hld & [T BT JAAST BT 3T el

5) TUTfeh 3R lifeheh BEeT 37ehel / HHT AT HI AT

AT f&T I FHT 3UAT Fdh ol 3a¢ Al IJIT B ;

A.1,33R4
B.2,3,43Rk5
C.2,43R5
D.1,2,33R5

Answer ||| C

Solution ||| Conservation agriculture (CA) can be defined by a statement
given by the Food and Agricultural Organization of the United Nations as
“a concept for resource-saving agricultural crop production that strives to
achieve acceptable profits together with high and sustained production
levels while concurrently conserving the environment”

The 3 principles of CA are:
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e Minimum tillage and soil disturbance
e Permanent soil cover with crop residues and live mulches
e Crop rotation and intercropping

45.91s¢ "sixth mass extinction/sixth extinction" & 3&8Y ............ $r =T &
e # JHAERT H 3co@ fRaT ST &

A. ¥ AR 99 dAE W aifofsas Gt # g9 Ao’ FAT S giaar &
7§ REal # TRET & HUHY SR & @ A § e oRoTE e
Tacelt aIRTEAfAeRT o &1 sJhar g el Bl

B. fehe Hfasa # g & 1Y T Iewhlius &l HAMAd cFa T HF TF HE
ugawm%ﬁrﬁuaaﬁqﬁgmm,ﬁmﬁaﬁ%aaéﬁ%a@
YA W AT 81l T HROT &1 1|

C. gfar & &g REdl & HARIS &7 & FADT BaEell H 99 YA R Tl 3R
gfaiar & 3= feedl & 39el Well dr Forar o1 it 3ed Tadel hae diet &
M g 3R Wie Sia-fafatrdr & Jehdled T HROT &1 Hehell gl

D. AE Sd & iehfder FEEAT AT 3Hh MEOT / g@uANeT, Wehfdeh HTardl
faEse / sgohanT, aIRTEfas dF &1 faarer, yquor 3R dRes Sfeary aRade |

Answer ||| D

Solution ||| Scientists have warned that the sixth mass extinction of life
on Earth is unfolding more quickly than feared. Wildlife is dying out due to
habitat destruction, overhunting, toxic pollution, invasion by alien species
and climate change. The ultimate cause of all of these factors is human
overpopulation and continued population growth, and overconsumption.

46.fArAfafE@d 7 & fhaet sRd & 33 Ram fr e Hr?
1) 1813 &1 arx yfafags

2) e fAder dr @ a@fafa, 1823

3) 3Rucfore 3k virafawe faare

AT GT 15 FT 3YART ek Jal 3aX Bl gIod A

A. Faa 1 3R 2
B. shddl 2
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C. &dol 1 31K 3
D.1,23k3

Answer ||| D

Solution ||| Charter Act of 1813 permitted Christian missionaries to
propagate English and preach their religion. It was also a landmark in that
it was 1st official move on education in India by British where a dedicated
grant for education was provided.

In 1823, the Governor-General-in Council appointed a “General
Committee of Public Instruction”, with Lord Macaulay as the president.
The committee decided to spend major portions from the grant for the
improvement of oriental literature.

The committee was not able to decide the medium of instruction by vote
leading to Anglicist and Classicists controversy.

47 FFfaf@d & @ @i @ v HEA sier 87

A. FISTShalTel (ATHTS)
B. Fle® (3T Y2

C. ddlidrel (FTES)

D. YurahT (fRATaeT 9een)

S

Answer ||| A

Solution ||| e Kodaikanal Lake, also known as Kodai Lake is a manmade
lake located in the Kodaikanal city in Dindigul district in Tamil Nadu,
India. Kodaikanal Lake is in the Palni Hills.

A48.94TAHAT Fiee AR AT & TeH H, afaf@d HYUal W TIR -

1) Tg 4H AR USHIR HAC 6T J7G Il gl

2) I8, 3= Hiell & A1y, Aike Eevel, IeTACT, fada AR BToee aerar 7 o
GTRIGTOT WeTel |

3) SHH 3caT ITSET Hierel ARIAAT hAAde H G & AfAafAd Fdad Hr
geTdT3il & WIWT T gl

IR &I a0 FYAT H & FiT A/ TEr 872
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A. Faer 1 3R 3
B. shad 2

C. %aer 2 3R 3
D. 1,233

Answer ||| C

Solution ||| e Pradhan Mantri Kaushal Vikas Yojana (PMKVY) is the
flagship scheme of the Ministry of Skill Development & Entrepreneurship
(MSDE).

e The objective of this Skill Certification Scheme is to enable a large
number of Indian youth to take up industry-relevant skill training that will
help them in securing a better livelihood.

e Individuals with prior learning experience or skills will also be assessed
and certified under Recognition of Prior Learning (RPL)

49.1920 #, F=f@d & & FTa 39T AH Scaad "TaRIST JHT" ST &ar?

A. 3iTeT Sf3aT 81 & 9T

B. feq #HeTHe

C. GTgI0T AR folael thaerT
D. ¥RAT THATST & TAdh

Answer ||| A

Solution ||| Gandhi had become the president of the All India Home Rule
League in 1920. Its name was changed to 'Swaraj Sabha’.

So.ﬁmﬁrﬁaaﬁaﬁﬁﬁﬁaﬁmmaﬁﬁg‘é’?

A. T gTeIE o 3T FATST Hr TATIAT FHr

B. &etae] fAaT & slrergdor forar

C. SfhAdg TCITEATT o 3o for@r

D. gy SR AR fafder dar alier # % gl dTel Ugel HRAT del


http://www.gradeup.com/

¥

www.gradeup.co gradeup

Answer ||| B

Solution ||| « Swami Dayanand established Arya Samaj — 1875

e Dinabandhu Mitra wrote Neeldarpan - 1858-59

e Bankim Chandra Chattopadhyay wrote Anandmath - 1882

e Satyendranath Tagore became the first Indian to succeed in the Indian
Civil Services Examination — 1863.

51.F7 # & Fld O AT & IR AR YT Telel & AT IRomA 8?2
1) Y & FIUIATT T

2) S{oTel 1 ST

3) dTeI-T Pl A Fal

AT U I FHT 39NN T gl A T TIT Y :

A. Fad 1

B. ohdel 2 3R 3
C. dhaal 1 3k 3
D.1,23Rk3

Answer ||| B

Solution ||| e The removal of sand from the river bed increases the
velocity of the flowing water, with the distorted flow-regime eventually
eroding the river banks.

e Sand acts like a sponge, which helps in recharging the water table; its
progressive depletion in the river is accompanied by declining water
tables in the nearby areas.

e Depletion of sand in the stream bed causes the deepening of rivers and
estuaries, and the enlargement of river mouths and coastal inlets. It leads
to saline-water intrusion.

e Sand acts as an efficient filter for various pollutants and thus maintains
the quality of water in rivers and other aquatic ecosystems.

52.F% Fqar & W A, rfaf@a #yel w R #{

1) #HeT # Frefoieh YTy dI Teh 3T WHA SHPT LAl & gliesaT &THAT I HA
T & Bl

2) #HaT Howl Tk H HIS ARG 78T fare B
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3) gag &1 Al A O o HN A & Fauiievor # AerEE F Thd ¢l
FW QA A0 FA A § HleT @vq F@@y 82

A. Faer 1 3k 2
B. &ad 3

C. dhaal 1 3Rk 3
D. 1,233

Answer ||| B

Solution ||| e Soil texture and organic matter are the key components
that determine soil water holding capacity. Each 1 percent increase in soil
organic matter helps soil hold 20,000 gallons more water per acre.

e Sulphur is one of three nutrients that are cycled between the soil, plant
matter and the atmosphere.

e Salinization is a major problem associated with irrigation, because
deposits of salts build up in the soil and can reach levels that are harmful
to crops

53.8 UIEaRIRAIY BR UaRlel 3ol Ml Sl (U97) Teh HIFd TS¢ o, Siifeh gRa
3R 3 gAY rdcgarant F ufa ¢ H uRadd ae H ™Il el &
foT @ged Ieg A7 &-

A. Fdd fasra X gedl Rk @@Ae 2002, Sigeqee

B. T faehrEg 9 HgFd Tsg FFAS 2012, R 1 iRy

C. Stefarg aRadel W HgFd TSE ShATH doaled 2015, IRA
D. T aad o REw @A 2016, 75 oo

Answer ||| B

Solution ||| e In 2012, Rio+20 (the United Nations Conference on
Sustainable Development) was held in Brazil. The conference’s outcome
document entitled ‘The Future We Want’ was a call to action for
governments, business and the UN alike to support countries interested in
transition to a green economy.

e PAGE was created as the UN’s direct response to this call of action.
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54."33) W & e & & T @ g g2
1) FetheralelT a&3iT & TARY

2) S AE FIT &1 fFAToT

3) 3ifcrAfea e

4) qATAHATOT oy

5) sTeT JATHT CFAralia

Jr T AIg FT 3UANFT i TG I T TIT I

A.%aa 1, 33K 4
B. a2, 3 3R 5
C. %aerl 34
D. 3uerd T

Answer ||| D

Solution ||| e 3D printing is being used across a range of industries, from
construction to medical technology. Its use in the food industry continues
to grow.

e 3D printing of confectionery has focused primarily on chocolate and
hard sugar candy.

e In America, 3D printed bionic ear was generated via 3D printing of a
cell-seeded hydrogel matrix in the anatomic geometry of a human ear.

e Industrial 3D printers have opened new paths at each stage of
production of motor vehicles.

e 3 D printing has been used in reconstructive surgery to help repair
damaged tissue for example in cases of birth defects.

55.AFATIEd HYe W =R &

1) N 9 SaTelHd AR &7 7 8Id Teh Aisha Sarelegr g

2) T @iy e PR & 140 fradr g3 7 RRud g

3) A SR N T oA 1991 # yepfed g3 3R a9 & 78 AfSna
T &l

IR & T FUAT F F FieT T/ T §?

A. Fhad 1
B. 23R 3
C. had 3
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D.13R3

Answer ||| A

Solution ||| e Barren Island, a possession of India in the Andaman Sea
about 140 km NE of Port Blair in the Andaman Islands, is the only
historically active volcano along the N-S-trending volcanic arc extending
between Sumatra and Burma (Myanmar). The 354-m-high island is the
emergent summit of a volcano that rises from a depth of about 2250 m.

e The Barren Island volcano, on a remote uninhabited island off the
country’s eastern coast, had been lying dormant for more than 150 years
until it saw a major eruption in 1991. Since then it has shown intermittent
activity, including eruptions in 1995 and 2005.

56. 96T STl g STel dlel G 1 HFA FAERT H Sool@ 4T frmar
ST 87

A. 3T% 31 T 39T Fied JATH=T F 9 & F fRar Srar gl
B. ¥g 39 & ¥ Sia-afauar & &7 wtar § o ag doar &
C. 3Th 37h & HICATARI o TN H AT fohar ST gl

D. 58 & IS Agr

Answer ||| B

Solution ||| The kikar or Prosopis juliflora was brought to Delhi from
Mexico by the British more than a century ago. The exotic plant became
invasive and wiped out most of the native plants and along with it the
animals, which once used to roam in the ridges. With its deep roots, it
had also wreaked havoc on city’s groundwater.

57.fArfaf@a Hoer W R+ -

1) gferar 1 3fRreRier FHIm Tcele 3SUThieatia arel # g

2) gferam & e fgrs & e e O% 3ifeeforan, Ssafar 3R fhddia &
e 7 fua g

3) ®el {6 IO auiael gaRT §Iee fhT 1T STeTeRT I Tefell H SiTeTari
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$r 31®F &I F Eee A T
I & T HYAT H T i U/ Tgr 872

A. Faer 1 3k 2
B. &ad 3

C. dhadl 1 33
D. 1,233

Answer ||| D

Solution ||| e The vast majority of large reefs created by corals in shallow
waters (< 50 m water depth) are located within a tropical zone located
between 30 © N and 30 © S latitude with a preferred temperature range of
approximately 22 © to 29 © C. Coral reefs are often called the “tropical
rainforests of the sea” for their astounding richness of life.

e Coral reefs are the most diverse communities on the planet. These
tropical marine communities occupy less than 1% of the ocean floor, but
are inhabited by at least 25% of all marine species. Scientists estimate
that more than 25,000 described species from thirty-two of the world’s
thirty-three animal phyla live in reef habitats - four times the number of
animal phyla found in tropical rain forests.

58."HIHATH BN UST: FolgHC Il 3" Ueh Ugel g o1l EanT diled fhar
IR B

A. STefarg IRade IR HAT-TRHRT defer
B. J.tA.3. 9 HiRarey

C. g, U uoh. .. Er Fiearery

D. faea #HigH =T HarssT

Answer ||| C

Solution ||| Climate Neutral Now is an initiative launched by the UN
Climate Change in 2015, aiming at encouraging and supporting

All levels of society to take climate action to achieve a climate neutral
world by mid-century, as enshrined in the Paris Agreement adopted the
same year.

The initiative therefore invites companies, organizations, governments
and citizens to work towards climate neutrality by reducing their climate
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footprint thanks to a simple 3.-steps method, whereby they shall:
e Measure their greenhouse gas emissions;

e Reduce them as much as possible; and

e Compensate those which cannot be avoided by using UN certified
emission reductions (CERs).

59.9Rd # 3ufafe arae & SRieT AfaTeh FeuEt & dest #, efaiad

?ﬁwﬁwﬁ: _

eI G

1. 9T # T @l fafergs - faferaa Siem
2. Thelehdl HeEl - ae gfeeen
3. wic fafere 3R e - 3R dord

IR QU 7T gaAt & q @l qud w@@r g2

A.13R2
B. &had 2
C.13R3
D. &hder 3

Answer ||| B

Solution ||| Warren Hastings, himself an intellectual, set up the Calcutta,
Madras in 1781 for the study and learning of Persian and Arabic.

In 1791 the efforts of Jonathan Duncan, the British Resident at Benares,
bore fruit and a Sanskrit College was opened at Benares.

Lord Richard Colley Wellesley took the first step for training of Civil
Servants when he founded the fort William College, in Calcutta in
November 1800 where the Civil Servants of the Company were to receive
training in the literature, science and languages of India.
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&7 el el GAERT 7 Seom@ TRy AT - Zer

1. Sheellf=ra - T
2. HF - T
3. fHsEET - fiheirdie
4. AR - G

3 QU aIv oAl A @ Fid WA JeA WE ST ¥ A W 52

A.1,23R3
B. shadl 3 34
C. daa 1 3k 3
D. &hae 2 3R 4

Answer ||| C

Solution ||| e The autonomous community of Catalonia occupies a
triangular area in the north-eastern corner of Spain.

e The Republic of Crimea, officially part of Ukraine, lies on a peninsula
stretching out from the south of Ukraine between the Black Sea and the
Sea of Azov.

e Mindanao, island, the second largest (after Luzon) in the Philippines, in
the southern part of the archipelago.

e Oromia is one of the nine ethnically based regional states of Ethiopia.

61.F==faf@a Fuar W R X

1) YoleTel TTCAd 34T (CAR) @8 T & Sif Sl &l 3(del Tag & 4ol & &9
# AT TGAT I § dlieh deh ganT fohw 1w fordlr ot sfeharel &l 3iihde foram o
T, IfE WA YRS THAT el A bl gl 8

2) YefieTd gaTedar 3eard (CAR) &1 Ao ydsh safFaerd d& ganr foram sirar
gl

IR A 7T FyAr F ¥ FiT T/ TEr §?
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A. Fae 1
B. &hdel 2
C.g&r 1 3K 2
D.aar1aar?2

Answer ||| A

Solution ||| e Capital Adequacy Ratio (CAR) is the ratio of a bank’s capital
in relation to its risk weighted assets and current liabilities.

e It is decided by central banks and bank regulators to prevent
commercial banks from taking excess leverage and becoming insolvent in
the process.

62.9gTeT HY 'ITUR’ Teh Gell "TChlel TATHT SeIhd (T.U1.3MTS)" Felel il
g1 3HFT T 3T §?

1) 38 el off Socioies f3arsd # whiga fFam o1 & &

2) IBRA FI 3UJT FX HAAST FATOTROT T gl

W 6T 90 FYAT H & HiT AV T 87

A. Faa 1
B. &had 2
C.aer 13k 2
D.aTari=Tgr2

Answer ||| C

Solution ||| e Aadhaar provides open Application Programming Interfaces
or APIs, which can be integrated easily into any electronic device.
e These APIs enable online authentication using a fingerprint or iris.

63.8Tc &Y &, Feafaf@a ot & & g e & om@h ey 73T 3t / A9
Wﬁ%ﬁ@%mw/m#ﬁ%wwgwfréwm%?

A. 3aTerr 3T SiTfEer
B. el 3R eI
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C. deigfuel 3R lelfaar
D. I#T 3R gfetor g

Answer ||| D

Solution ||| e Yemen is how on the brink of “the world’s largest famine”,
according to the United Nations. The breakdown of government services,
lack of drinking water and a crumbling health sector, besides the miseries
of civil war and aerial bombardment, are fast turning Yemen into a failed
state.

e One year after South Sudan briefly declared a famine, more than half of
the people in the world’s youngest nation face extreme hunger amid civil
war. A new report by the United Nations and South Sudan’s government
says more than six million people are at threat without aid, up about 40
% from a year ago.

64.93d 39T & Fay A, 0T & @ @l a1 FUT T §?

1) IMe-34-Us {Eead ver fhar = |

2) favafacarerar & Tamqer S RAwiRer $r 715 o

3) fAeT & Ty TRT W AT F ATETH F T FH 37306 Hr {HIRET & 3715 oA
AT f&T I FHT 3UAT aah ol 3a Al IIT B ;

A. Fhael 1 3R 2
B. shdel 2 3R 3
C. dhaol 1 3K 3
D.1,2 3R 3

Answer ||| A

Solution ||| Wood’s Despatch is called Magnacarta of English Education in
India.

Salient Features

e An education department was to be set in every province.

e Universities on the model of the London University be established in big
cities such as Bombay, Calcutta and Madras.

e At least one government school be opened in every district.

e Affiliated private schools should be given grant in aid.

e The Indian natives should be given training in their mother tongue
also.
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e In accordance with Wood’s despatch, Education Departments were
established in every province and universities were opened at Calcutta,
Bombay and Madras in 1857 on the model of the London University.

65.9Rd & §OG & TeH H, efai@d # ¥ @i O Faig afAfd S Hdr §
3N HeeT H RAE e ¢ o a1 d@fqurs garr Yed a1 §He ganT ged fhe
av sifRfaaat, s, 39-fogat,3nfg @ s e dr afeadt @1 gfafafteEsT &
e # ISR earT 3fAd 7 & 39T fRar S @r §?

A. TPRT A dfafa
B. 3rtfiaey faurs afafa
C. e afafa

D. fooag tgargsl &R

Answer ||| B

Solution ||| Committee of Subordinate Legislation examines and reports
to the House whether the powers to make regulations, rule, sub-rules and
by laws delegated by the parliament or conferred by the constitution to
the executive are being properly exercised by it. In both the houses the
committee consists of 15 members. It was constituted in 1953.

66.fAFTAIRT FUAT W [FAR FL:

1) RIem & AP (IR.EE) HRAAIA & AR, Th ToT H Teh Refh & &
# AgiFd & AT 97 g1 8, Toh AT I Hefdd Tod et RIaT gikve
eaRT AR =geTca JIAAT ITed I I AT graf|

2) 3RS HRAIH & AR, TS ol dl GGl g, SFHGAR Pl T
fRrerer RIem aRwe feem-fAdel & qaR AT Rt ardr gdet 3hoT e
T ATGIHT il gl

3) HIRT #H, 90% ¥ 318 e -5 RAeT deue @Y To7 TWHRT & 7T g
39X T 9T FUAT H & i AT Tel 87

A.13R2
B. dhdol 2
C.13Rk3
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D. &hddl 3

Answer ||| B

Solution ||| e Right of Children to Free and Compulsory Education (RTE)
Act, 2009, the National Council for Teacher Education (NCTE) has laid
down the minimum qualifications for a person to be eligible for
appointment as a teacher in class I to VIII.

e One of the essential qualifications for a person to be eligible for
appointment as a teacher in any of the primary schools is that he/she
should pass the Teacher Eligibility Test (TET) which will be conducted by
the appropriate Government.

e From the mid-1960s to 1993, the number of TEIs in India went up from
about 1,200 to about 1,500. After the NCTE was set up, the number of
TEIs exploded, to about 16,000 (over 90% private) by 2011.

67.fA=fafed At W TR+

TRT e

1. o $T AER - [EEitc)
2. WA 9REl deells - AT
3. Al-g I — SIEE )

FR U v oAt F @ Fia @y 7 g2

A. Fad 1
B. 13?2
C. %dd 3
D. 23R 3

Answer ||| B

Solution ||| e Chapchar Kut is the biggest festival of the Mizos and is
celebrated in March after completion of jhum operation

e Khongjom Parba is a style of ballad singing from Manipur using Dholak
(drum) which depicts stories of heroic battle fought by Manipuris against
the mighty British Empire.

e Thang-ta dance of Manipur was an evolved from the martial arts drills
promoted by the kings of Manipur.
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68.fArfaf@d wet W AR +¥ -

1) @iy L&t 3R AxS AHRAFIA, 2006 F W IHudas & JHATH HAHIH,
1954 &I dcof &l

2) Wieg AT AR AT TRH0T (Th.0H.UH.T.3718) Farg Faeed 3R aRar
HIIOT HATTT H FAELT JATHT & FHGIAGAS o THRT &

IR A 7T Fyar § ¥ FiT T/ TEr 82

A. Fad 1
B. &had 2
C.g&r 13k 2
D.aTarl1=Tgr2

Answer ||| A

Solution ||| e The FSSAI Act took 8 older acts into one umbrella including
Prevention of Food Adulteration Act, 1954 Ministry of Health & Family
Welfare, Government of India is the Administrative Ministry for the
implementation of FSSAI

e The Chairperson and Chief Executive Officer of Food Safety and
Standards Authority of India (FSSAI) is appointed by Government of
India. The Chairperson is in the rank of Secretary to Government of India.
It is not under the charge of Director General of Health services.

69."aY TSI THATY" e I ool hHT-HAT ATHAT & TS H AR &
foram Sar B

A. T

B. RIS
C. sU&
D. IHA

Answer ||| B

Solution ||| Two- State Solution of Israel Palestine Issue: It envisages an
independent State of Palestine alongside the State of Israel west of
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Jordan river. The UNSC Resolution 1397 agreed in 2000 with support from
USA and becoming first UNSC resolution to agree on two state solution.

70T~ @Wieg AT AfAad, 2013 & ded v a0 grauEt & dedt A
Fafaf@a Fual ww [JER #::

1) shadl IS I@T & AT (ST dr.uer) 'Soft & dgd A arel IRaR Jfsqsr arer
37ATST UTed Y & 91T g

2) ARER # 18 Tl AT 38 3T 3G T FaW T3 Aol WA F1S AT e
% 3caeT W TR Hr AT gl

3) Iefadr Afgem3it 3R EITae e arel ATt @ aHTaEAT & e 3N 3Ee
d1¢ O A & fov gfafesT 1600 HealT IR 'S gheR g

IR A 7T Fyar F ¥ FiT T/ TEr &2

A.13R2
B. &had 2
C.13R3
D. ohddl 3

Answer ||| B

Solution ||| e Coverage and entitlement under Targeted Public
Distribution System (TPDS): Upto 75% of the rural population and 50% of
the urban population will be covered under TPDS, with uniform
entitlement of 5 kg per person per month. Not restricted to only BPL
families.

e Eldest woman of the household of age 18 years or above to be the head
of the household for the purpose of issuing of ration cards.

e Pregnant women and lactating mothers and children in the age group of
6 months to 14 years will be entitled to meals as per prescribed
nutritional norms under Integrated Child Development Services (ICDS)
and Mid-Day Meal (MDM) schemes. The nutritional and feeding norms for
supplementary nutrition as prescribed by GOI is, 600 (not 1600) calories.

71.8Rd & Sfdcdl T 3uTelel el & 36620 ¥ a&g3i (Tliehor 3R &eon)
AT, 1999 & Hienfas Foar #r FRFaHAT e
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A. 3TS. T3
B. 3S.TH.UH
C. g A dréus
D. Sseg a.30

Answer ||| D

Solution ||| e Geographical Indication is “indications which identify a good
as originating in the territory of a Member, or a region or locality in that
territory, where a given quality, reputation or other characteristic of the
good is essentially attributable to its geographical origin”.

e Consequently, upon India joining as a member state of the TRIPS
Agreement sui-geneis legislation for the protection of geographical
indication was enacted in 1999. Geographical Indications are covered as
an element of Intellectual Property Rights under the TRIPS Agreement
(WTO Agreement).

72 . fafof@d Fy¢r W AaR +:

1) IRA #, ToT TWHRT A IR-PIIS T @It Hr Ay e Hr afFa 87 2l
2) 3y yeer 3R SAR@s & A i T 81 gl

3) ToEA H g 3aTh T g

IR &I 90 FYAT H & FiT AUV/F T 87

A.13R2
B. el 2
C.13R3
D. ohddl 3

Answer ||| D

Solution ||| e As per Mines and Minerals (Development and Regulation)
Amendment Act, 2015 the non-coal mines have to be auctioned by the
respective state governments.

e Jharkhand has both alluvial and native gold. Alluvial gold is obtained
from the sands of the Subarnarekha river, Sona Nadi in Singhbhum
district and the streams draining the Sonapat valley. Native gold is found
near Lowa in Singhbhum district.In Andhra Pradesh gold deposits are
found in Ramagiri in Anantapur district.

e In Rajasthan the Iron-Ore deposits are located in the districts of Jaipur,
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Udaipur, Jhunjhunu, Sikar, Bhilwara, Alwar, Bharatpur, Dausa and
Banswara

73.Bf5ea serae & d@est A, Peafaf@d sl W Er @

1) fiH (BHIM) VT 3UANTehl &l JUT.3S-HETH deh Wid drel Thely eaierd 1 ot
el GEATTRUT el & IefAfT S B

2) R9-MAa 3T F15 & JATIRUT & IR FRS 8id &, HeT 00 #F gaArofiexor &
$hdel &I PRSP 8ld &l

IR Y 71T FUAT § T ST q/d T £7?

A. Fae 1
B. &hddl 2
C.gmr 1 3R 2
D.aar1aar?2

Answer ||| A

Solution ||| e BHIM app is powered by UPI and integrates the Payments
platform as the official app of the government of India.

e Debit card does not have four factor authorization and BHIM app has
three factor authorization.

7457 g0 H T T 1 Kool & Ahedd aray W Bua g2

A. SIS
B. §ereTg
C. ANTR
D. qoT

Answer ||| A

Solution ||| e Delhi and Bengaluru are located almost on the same
longitude.

e Longitude of Delhi- 77.1025 ° E

e Longitude of Bengaluru- 77.5946 ° E

e Longitude of Hyderabad- 78.4867 ° E
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e Longitude of Nagpur- 79.0882 ° E
e Longitude of pune- 73.8567 ° E

75.3TSET 57 GIoeT T & 138 31K 182 o gefaa g-

A. ST HH

B. aRgsh STerary aRads & v Hi¥ qui3it & ke
C. @ieg AN AR @ieg e & Afaga=

D. FREEYS W folr FHATAAT

Answer ||| A

Solution ||| India recently ratified the two Core Conventions of
International Labour Organization (ILO) Conventions 138 regarding
admission of age to employment and Convention 182 regarding worst
forms of Child Labour.

76.fArfaf@a geant w IR a1

1) 9l ciisheliiaeh &31 @ fAaifad wegiaee Tiél TWHR #RA H Teh Ao A a11od
gl

2) SRE F7 TR TS 3%, SHRTT I 3iH SRA F AW o Be 35 3w
sf3ar @r I

3) TR 33T A UedIehd foham I/ m R USEY argeh ST I

4) aNaT TIAT HRA I T & I

frfaf@d & & i a1 39Fa g3t H1 TEr Frelllshd 87?

= NN

wph W

oCOow>

wPhwp
1

N =N

Answer ||| B

Solution ||| e First democratically elected communist party government
formed in a state in India in 1957.

e Imperial bank was renamed as state bank of India in 1955.

e Air India was nationalised in 1953. Government of India passed the Air


http://www.gradeup.com/

¥

www.gradeup.co gradeup

Corporations Act and purchased a majority stake in the carrier from Tata
Sons.

e Goa became an independent India on 18 December 1961. Indian troops
crossed the border into Goa and “liberated” it.

77 . INYSHIAT T TSR Tl oiad iR cafFderd foeer & 3aRks BEa & &9 H
Wfea g Feff@d & @ id a1 #Rd & e & 3Wiad $UA HI Tl
¥ 3R 3T §T & 6] HIAT 82

A. 3Te8e 14 AR EiareT & 424 TR & dgd Jaum
B. 3Tede 17 3R #eT IV & g +Aifd & faders Reerd
C. 3efesa 21 3R T 111 & aIRE & 1§ FdFa

D. 3fede 24 3R WUl & 443 WY & dgd JIaee

Answer ||| C

Solution ||| Privacy is a constitutionally protected right which emerges
primarily from the guarantee of life and personal liberty in Article 21 of
the Constitution. Elements of privacy also arise in varying contexts from
the other facets of freedom and dignity recognized and guaranteed by the
fundamental rights contained in Part III.

78.fFff@d W fdarR &1:

1) garr

2) st

3) b

4) fhaR Al

5) 3Bl

6) fae

7) god

e AHGT W ARHs FfAfd A 3WFd # @ g & v =gadq aqda
37%her hr =IO T §?

A.Faad 1, 2, 33k 7
B. &hda2, 4, 5 3iR 6
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C. %ael, 3,4, 536
D. 3Wied T

Answer ||| B

Solution ||| e The MSP is fixed on the recommendations of the
Commission for Agricultural Costs and Prices (CACP). The CACP is a
statutory body and submits separate reports recommending prices for
Kharif and Rabi seasons.

e Initially, MSP covered paddy, rice, wheat, jowar, bajra, maize, ragi
(Finger Millet), barley, gram, tur, moong, urad, sugarcane, groundnut,
soybean, sunflower seed, rapeseed and mustard, cotton, jute and
tobacco.

e From 1994-95 onwards, Nigerseed and Sesame were included under
MSP Scheme of CACP, in addition to the edible oilseeds already covered
by the Commission.

e Similarly, during 2001-2002, the government enhanced the terms of
reference of the Commission by including lentil (masur).

79.f7%1 A @ TRy Uo7 A UGS degelld eARUY fFUd &7

A. 30Tl ST
B. AT
C. Agrer g
D. dRMeis

Answer ||| A

Solution ||| At the foothills of the Eastern Himalayas in Arunachal
Pradesh, Pakhui Wildlife Sanctuary is also known as Pakke Wildlife
Sanctuary and more popularly as Pakke Tiger Reserve. Earlier a game
sanctuary, it became a wildlife sanctuary in 2001 and a part of Project
Tiger in 2002.

80.41Rc & 3UaE YaluoT dlgall & Hesl &, fawafaf@a soel w faam &t
1) PSLV g EaTe=A & SR & fow 3udieh 39argt &1 dicd ld &
SIefeh GSLV #TT &7 @ IR 396l & dled oA & fav f3eimga e sid g
2) PSLV a1 dled 3YaTgl &l Jedl 9 Teh faRIY ¥ @ ST a7 §, Stér
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3TeRIT A 34T RUTT & TRl &9 O ag fohar S gl
3)GSLVMkIIIWWWWWWg‘UWﬁTWW%W&
Teh IR TROT dlied [ algel §; 3R el Uehe Sofel ol 3TN & GET 3T @ter
IOT|

3RFT QU 310 Syl F F i A/ Tar 82

A. Faa 1
B.2 33
C.13R 2
D. ohddl 3

Answer ||| A

Solution ||| @ GSLV Mk 3 is a three-stage heavy lift launch vehicle
developed by ISRO. The vehicle has two solid strap-one, a core liquid
booster and a cryogenic upper stage.

e The GSLV is designed mainly to deliver the communication-satellites to
the highly elliptical (typically 250 x 3.6000 Km) Geosynchronous Transfer
Orbit (GTO).

e PSLV is designed mainly to deliver the “earth-observation” or “remote-
sensing” satellites with lift-off mass of up to about 1750 Kg to Sun-
Synchronous circular polar orbits of 600-900 Km altitude.

81.Rd # TSIfaeh &1F & dfchar & faFa & dgdf &, ol a9 W
faar & -

1) HRd PR GaRT Aol h &7 & Sl # Yot a2 Tod g # Tl 95
T &l

2) FidSifs &1 & dohl B FA H @A & AU, ARAT T dF & Ty ggael
ol T faerT amfaa ganm &

IR T 3T FUAT H F i T/ Ter g2

A. Faa 1
B. &had 2
C.aer 13k 2
D.aari1a&r?2
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Answer ||| B

Solution ||| e Capital infusion into public sector banks by the Government
of India has not steadily increased in the last decade.

e The merger of SBI associated banks under Section 35 of the State Bank
of India Act, 1955 will result in the creation of a stronger merged entity.
This will minimize vulnerability to any geographic concentration risks
faced by subsidiary banks. It will create improved operational efficiency
and economies of scale. It will also result in improved risk management
and unified treasury operations.

82.fAFfafdd W faar &<

1) 37eTTaT T el

2) Rt 378 geprT S §

3) AT TERg 3R fBsameg

4) faamae @l Jod TARR 9

STH.E (AT 3R FaT W) & dod 39GFT aEGHT F F fFw W ge & 78 2

A. Fae 1

B. %had 2 3R 3
C.¥%aa 1, 23R4
D. 1, 2,334

Answer ||| A

Solution ||| e While cereals, eggs, fish etc. are exempted from GST, the

question mentions 'cooked' and 'processed' which in all likelihood will be

available at restaurants and factories. These are therefore not exempted
from the purview of GST.

e With reference to newspapers containing advertisements, government

has recently published a clarification that these will be taxed under GST.

The newspaper would have to pay 5 per cent GST on the revenue earned
from space selling but can avail of input tax credit for the tax paid by the
advertisement agency on commission received.

83.f@d FUaT W TR
1) "frfehar gogeila MEa" $r IRATNT I F¥eR dfafaae, 2006 & enfAe Fr

TE B
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2) RT & Ugell O, S1591 &l & J¥HR T 71w )

3) YATEROT HATSF, g7 3R STl qRdcTel TARRD N T AR o fonell off
feed & 3nfeA AR FAGR ST Fogl & fav smaw afUsRt @1 @ok dar
g 3R aI¥T & gl

IR A 7T Fyar F ¥ FiT T/ TEr 82

A. Faer 1 3R 2
B. %had 2 3R 3
C. ad 3

D. 1,233

Answer ||| A

Solution ||| e The phrase ‘critical wildlife habitat’ is defined only in the
Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of
Forest Rights) Act, 2006, and NOT in the Wildlife (Protection) Act, 1972.
e Union Ministry of Tribal Affairs officially decides and declares Habitat
Rights for Primitive and Vulnerable Tribal Groups in any part of India.

84.fAFfafld W faar &I :

1) g&ir

2) 350 g5 4

3) awt

4) gar &1 Sgell

3RIGd H ¥ HidA /A 9ier &1 97 e g2

A. Faar 1 3R 3
B. 3 3R 4
C.1,23k4
D. 1, 2,334

Answer ||| D

Solution ||| ¢ Nematodes, snails, birds, and wild and domestic animals
often help dissemination of plant diseases.
e The spores of many parasitic fungi are disseminated by air currents
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from diseased to disease-free host Pathogens like, bacteria are often
disseminated by splashing of raindrops, as in case of Citrus canker
disease.

e Soil and field operation also disseminate the diseases as they result in
dust blowing.

85.9d # Sifdw @ & Tt #, Rfaf@a Fuat W R

1) Sifa® 3cure & AT TSI Hsha '(THAUI3AY) Fgg AT faera J@3rag &
feem-fadart 3R fGemat & aga Tanfera fRar srar &1

2) ¥ 3R FaEeT @eg 3cure AT e wifteor (ThEdn), s &
FTcadT & v e & & § 1 T g

3) fafFra aRa &1 ugen QO Sifdw T & T B

IR Y 1T FUaAr 7 T HT q/d T 72

A. Faer 1 3Rk 2
B. ohdel 2 3R 3
C. %had 3
D.1,2 3R 3

Answer ||| B

Solution ||| e Ministry of Commerce has implemented the National
Programme for Organic Production (NPOP) since 2001.

e Agricultural and Processed Food Products Export Development Authority
(APEDA) functions as the Secretariat for the implementation of the NPOP.
e Sikkim has become India’s first fully organic state, in 2016, by
implementing organic practices on around 75,000 hectares of agricultural
land.

86.HeAT foel & HY H, I @d # § HleT AT HYUT Tl 7aT o7

A. & 9 #Y foor AT sreen afe sgd Ry sy a0 &

ofaTTd, 3eHd, ¥, URade a1 s & weftd gaue g

B. T&h Hal 9l # 9RA 1 gafha A a1 7T & 3aRas AfS & Feedr &
qIaYTeT g

C. T Al el 9RA & Hhiens A ¥ 39 & RfagAa O g &1
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D. T& AA 9T 48 3UR ol AT WA THR canlT &is o I e & fafaasAeT
¥ gefaa gl

Answer ||| C

Solution ||| Article 110. Definition of Money Bill

(1) For the purposes of this Chapter, a Bill shall be deemed to be a Money
Bill if it contains only provisions dealing with all or any of the following
matters, namely

A. the imposition, abolition, remission, alteration or regulation of any

tax;

B. the regulation of the borrowing of money or the giving of any
guarantee by the Government of India, or the amendment of the law with
respect to any financial obligations undertaken or to be undertaken by the
Government of India;

C. the custody of the consolidated Fund or the Contingency Fund of India,
the payment of moneys into or the withdrawal of moneys from any such
Fund;

D. the appropriation of moneys out of the consolidated Fund of India.

87 .9 & Isguld & Teoirld & Hedl #, e=faf@d syel W faar &

1) 93 U & dlc & Hed Tsd ¥ Tsd H e glar &

2) NHEHAT & HHAl & AT H Hed AoIGA & FHal & dalc & Ao & AfH
gl

R GU a0 AT H & i T/A F@Er g2

A. Fad 1
B. el 2
C.gmr 1 3R 2
D.Aar1aar2

Answer ||| A

Solution ||| Value of the vote is determined in the following manner:

e Every elected member of the legislative assembly of a state shall have
as many votes as there are multiples of one thousand in the quotient
obtained by dividing the population of the state by the total number of the
elected members of the assembly. (Hence, it varies according to
population of state.)
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e Every elected member of either House of Parliament shall have such
number of votes as may be obtained by dividing the total number of votes
assigned to members of the legislative assemblies of the states by the
total number of the elected members of both the Houses of Parliament

88.9XcT Hest #, 'HRISET WA Foll Toldl (AMS.0.E.0) & A1y 'IfaRerd
AIETehlel’ @l AT I T FAT T1T g2

A. FRTRS GIATO] RUFR H1S.TS.U FI&T 3Url & Iefeled 3 g

B. ¥=7 WA Hfdvard ME.0ST & faderor # 3d g

C. & T RA] INYfciehct THE (TA.TH.SM) F RiATA Tlex @1 fawiitsr
g1

D. &3 Tadlfold §9 ¥ TA.TH.ST T & &1 ST gl

Answer ||| A

Solution ||| e India has ratified the Additional Protocol, a commitment
given under India-U.S. nuclear deal by the previous dispensation to grant
greater ease to International Atomic Energy Agency to monitor India’s
civilian atomic programme.

e The IAEA had in March 2009 approved an additional protocol to India’s
safeguards agreement consequent to a pact reached with the agency the
previous year to place its civilian nuclear facilities under IAEA safeguards.

89.fArfaf@a gt W IAarR &<

1) ireeterr

2) SaATST

3) AT

4) AR

5) SAT9TeT

6) .UH.U

3RFT # A FieT @1 A & 'HFd IOR HEMERT 7 § §?

A.1,2,43R5
B.3,4,53R6
C.1,3,43R5
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D.2, 3,436

Answer ||| C

Solution ||| e The Association of Southeast Asian Nations, or ASEAN, was
established on 8 August 1967 in Bangkok, Thailand, with the signing of
the ASEAN Declaration (Bangkok Declaration) by the Founding Fathers of
ASEAN, namely Indonesia, Malaysia, Philippines, Singapore and Thailand.
e ASEAN has existing free trade agreements with Australia, China, India,
Japan, South Korea and New Zealand

90.'TATT TATHH B FABHE-TAC Tdhek (GACSA)' & TedT H, fefaf@d
H O i A8 HUT TEr g

1) GACSA 2015 # IRE & IMANIAT SFefarg @ FFder= w1 IRomA gl

2) GACSA &1 TeTIdl IS dregsRy &fdcd gl SoTdT gl

3) IR GACSA & &1 # FgcaqoT ${fAenr fHeamar ol

feT T HIs FH IANT FE T 3R G|

A. Faer 1 3R 3
B. &hdel 2

C. hadl 2 3R 3
D.1,2 3R 3

Answer ||| B

Solution ||| ® GACSA is an inclusive, voluntary and action-oriented multi-
stakeholder platform on Climate-Smart Agriculture (CSA). Its vision is to
improve food security, nutrition and resilience in the face of climate
change.

e GACSA was launched in September 2014 in the margins of the UN
Climate Summit.

e membership in the Alliance does not create any binding obligations and
each member individually determines the nature of its participation.

e India is just a signatory member.

91. AT & ¥ HiaT T/H AR PR &1 "B sfEar dieer & aeg /
30T &2
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1) DT &1 e ARA T ATeAT Sclelc HAAAT Dl TS|

2) facel sgueder Aot 1 dcarfed e & fow NS grar wfid Far s
AR TS FHianforss TABT & IaR 379 93 3T Fal 1 [AAT W & fow
3T 3¢T ThdT A &l

3) AR F3 IEl Fl ST A Folae AT 3R FAR FS Feho!, Aol oleh ATAT
3R 97T wHesh Tl W aS-wig A=

A U IS T IYAT Fah TET A HT TIT FY

A. Faer 1 3R 2
B. %hae 3

C. %der 2 3R 3
D. 1,233

Answer ||| B

Solution ||| The Digital India programme is centred on three key vision
areas:

e Digital Infrastructure as a Core Utility to Every Citizen

e Governance and Services on Demand

e Digital Empowerment of Citizens

92.FAFfafEd 7H W faar X

IEY hl-F TAER F 3eo@ U T |

1. Torcdr - i

2. Tehdpen ; TJHA

3. ARge - T ferecre
4, AAR-T-2HIH - HEMT=HTI=
3 QU av FeAT A @ FHid W/A WE YHR ¥ A @A 52
A. 13?2

B. 134

C.2 3R 3
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D.33t 4

Answer ||| B

Solution ||| e Aleppo is in Syria.
e Kirkuk and Mosul are in Iraq.
e Majar - i - Sharif is in Afghanistan.

93.91Rd TWHR AT 1935 gart Tfg dg & afise afdqd & 718
-

A. TET auTaHs
B. IGeR el
C. 9idiT aura#Hse
D. 9T ITqe

Answer ||| B

Solution ||| Residuary powers were vested in the Governor -General, who
could, in his discretion, assign any such power by a public notification to
the federal legislature or the provincial legislature .

94.F=faf@d Fael W =R +i:

1) AensT | &1 THOTA 39T FRETET Trell X &I Ife g Au=Tgem Fr
ST o7 ST &

2) STe of faere |eam ST g1 Sl &, o 3reweT X 39 ReFa T &Il

IR A 10 wuAr F F wlT R FEr &2

A. &hae 1
B. el 2
C.gmr 1 3R 2
D.Aar1aar2

Answer ||| A
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Solution ||| Usually, the speaker remains in office during the life of the
assembly. However, he vacates his office earlier in any of the following
cases:

e If he ceases to be a member of the assembly

e If he resigns by writing to the deputy speaker and

e If he is removed by a resolution passed by a majority of all the then
members of the assembly. Such a resolution can be moved only after
giving 14 days advance notice.

the Speaker holds office from the date of her election till immediately
before the first meeting of the Legislative assembly after the dissolution
of the one to which she was elected. She is eligible for re-election. On the
dissolution of the Legislative assembly, although the Speaker ceases to be
a member of the House, she does not vacate her office.

95. AT & @ hieT & Flefel AR TIAAAT & &I Fod 38, 3T Faer &r
el 82

A. IfE 39T Fel §, A FA @A g

B. If¢ &I &efe AT &, Al HIs FIAAAT A6 ol

C. IiE TG &, o o9l GaRT hielel FATT ST |

D. Ife Fefel IHFEX g6l S g, dl TIAAaT ek H

Answer ||| B

Solution ||| e The term 'liberty' means absence of restraints on the
activities of individuals, and at the same time, providing opportunities for
the development of individuals.

e However, liberty does not mean 'license' to do what one likes, and has
to be enjoyed within the limitations mentioned in the Constitution and
various laws.

e The concept of liberty is not absolute. Absense of laws does not ensure
liberty.

96.fAFITaf@d FUAT W faaR &

1) freY 5T & ToTUTe & e fordr 8ff 31eTerd & 39% FETeT T & &
aRTeT IS MR HRIETET Y& gH T e |

2) fhdl ToT & ToTUTST & 3fegAleel AR 8 ST & 3ae & SR S e
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fpu ST
IR & 91T Faat # O HiT g oy g2

A. Fad 1
B. shdel 2
C.amr 1 3R 2
D.garl1a &2

Answer ||| C

Solution ||| e Article 361. Protection of President and Governors:No
criminal proceedings whatsoever shall be instituted or continued against
the President, or the Governor of a State, in any court during his term of
office.

e Article 158: Conditions of Governor Office: The emoluments and
allowances of the Governor shall not be diminished during his term of
office

97.9f8cy el "delt S q gefed gl

A. A g

B. SIYY Fhel
C. hIaTST Tohel
D. foheretite Tohet

Answer ||| D

Solution ||| e Bani Thani is an Indian miniature painting painted by Nihal
Chand from the Marwar school of Kishangarh. It portrays a woman who is
elegant and graceful.

e She has been compared to the Mona Lisa. Inspired by Radha, BaniThani
is characterized by idealized distinct features such as arched eyebrows,
lotus-like elongated eyes and pointed chin.

98."cfAT g1$ 3edisygs TRAT fSha (THAAD)" T &, o el-ahell @e’t &
ST ST 872
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A. TH SSRISAT IR JUTTT

B. ¥Rd &7 Tac TeI-TRAASA HIIsha

C. T ARG AU AT gomer

D. S9T 3R gfaoT SIRAT & ST T 8T FgITeT

Answer ||| C

Solution ||| Terminal High Altitude Area Defense (THAAD), formerly
Theater High Altitude Area Defense, is an American anti-ballistic missile
defense system designed to shoot down short-, medium-, and
intermediate-range ballistic missiles in their terminal phase (descent or
re-entry) by intercepting with a hit-to-kill approach.

99.9Rd & HiEpide sfderd & HedT A, Frafafld Hu= W TR w{:
1) TR INRIST HIAAT $9TaTT FST S G Er # i e &

2) TARRIS o $§ 0 IET S0

3) T 3R ARRIST AT ¢

4) $ITAT dehea T UAAT H oA Ay $ide #fad T &1

IW QU a0 %Yl # F Hled A/ HUT T 72

A. &hael 1 3k 3
B. shddl 2 3iR4
C.1,23R3
D. 2,334

Answer ||| B

Solution ||| ® Annamacharya was a 15th-century Hindu saint and is the
earliest known Indian musician to compose songs called sankirtanas in
praise of the god Venkateswara, a form of Vishnu, whereas Tyagaraja was
18t" century carnatic musician.

e Tyagaraja was an ardent devotee of lord Rama. In his praise and
honour he wrote numerous musical operas, and about twenty four
thousand songs, a claim that has been speculated among music
historians.
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100.fF%1 & @ frd "l & fAga" Hr geg [AAYAW AT ST g2
1) ufeaar dr dar

2) Fleld T U HHTA

3) WHR & T e Fr SFAgRY

4) TAAFAT AR ARG TSR

AT f&T T HIT FHT 3UAT Flah ol 3R Bl IIT B

A. Faer 1 3R 3
B. &had 2 3R 4
C. 3aerl, 2 3K 4
D. 1,2, 334

Answer ||| C

Solution ||| Rule of Law includes:

e Absence of arbitrary power

e Equality before law

e Primacy of individual rights

In rule of law it should be that government is responsible to the people
and not the vice versa.
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